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Connect measurement with physical units by using multiple copies of the same 

physical unit to measure.

2)  The head of the grasshopper is 2 centimeters long. The rest of the grasshopper’s

     body is 7 centimeters long. What is the total length of the grasshopper.

1)  The length of the picture of the shovel is about ___ centimeters.

3)  The length of the picture of the tennis bat is about __ centimeters.

The head of the grasshopper is __ centimeters long.

The rest of its body __ centimeters long.

Total length of the grasshopper = __ + __ = __ centimeters.

Use centimeter cubes to find the length of each object.

UNDERSTAND CONCEPTS ABOUT THE RULER


